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How the program works

“‘i’g PRINT “ESCAPE" = g
and 100 for frequency of
AO30 LET F-INT(RND‘IOO*I)_—Mﬂm“hP.

40 LET L=1 Puts ] in L and H. These are
SO LET H=1 used if you go too low ortoo
high - poe lines 170-190 and

230-250.
60 FOR 6=1 TO S Beginning of loop which

70 PRINT "GUESS? " %
B
. “l'u.hM“

70 IF ABS(F-F1)<S THEN GOTO 290 === Cheocks if your is
withia S of F. If

290 to print DONEIT.
100 IF F—-F1>40 THEN 6070 170_~hlﬂﬂm;-b
. so lowitisless than F by
more than 40.
110 IF F1-F>40 THEN GOTO 230 = to 230 if your guess is
£o itismorethan Fby
120 PRINT "NO VISIBLE EFFECT*" more than 40
130 NEXT 6 Prints if
140 PRINT *YOU TOOK TOO LONG. " G 80 6T aid oves hiili
150 PRINT "THE FREQ. WAS ";F for next tura. If all turns have
160 STOP boen used, it prints the answer.
170 IF L=2 THEN GOTO 210 Checks the value of L. The
- - first time this part of the
180 PRINT "TOO LOW...CAREFUL
p=ogram is reached, Lis 1. 8o
190 LET L=2 the computer moves down
200 6070 130 the program to print a
210 PRINT "THE BUILDING COLLAPSED" warning, change L to 2 and go
220 STOP back for ancther turn.

Next time line 170 comes into

230 IF H=2 THEN G60OTO0 270 operation the program jumps

240 PRINT *"7TOO HIGH...OUCH" straight to 210 to tell you

250 LET H=2 you've lost.

260 GOTO 130 These lines check H in the

270 PRINT "YOUR HEAD ACHES - GIVE UP"| samewaytogive youa

o s i
= v L] you yoa

236.’? m N o od the second time.

420 above listing will work on a ZXB81. For
- 910 HOME
. A10 PRINT CHR$(147)

A®30 LET F=INT(RND(1)$100+1)
~ B30 LET F=INT(RND(0)$100+1)
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Puzzle corner

The three Robot guards
each have their own

resonant frequency. You
can't escape until you
have found all three. How

How to make the
game harder

Change the Sinline 90 toa
lower number. This means
you have to get closerto F
to win. You can also
increase the possible
range of F by changing

100 in line 30 to a higher
number.




